
Word Problem Based on Addition 

 
1. Solve word problems by arranging the numbers in tens and ones. 

a. There are 18 red pencils and 11 yellow pencils. How many pencils are there 
altogether? 

 

 

 

 

b. Sisi has 23 pink roses with her. Yoofi gives 13 more yellow roses to her. How many 

roses does Sisi have now? 

 

 

 

 

c. There are 25 birds in a tree. There are 32 birds in another tree. How many birds are 

there in total? 

 

 

 

 

d. I see 42 rabbits in a park. 15 more rabbits join them. How many rabbits are there in 

the park now? 

 

 

 




